ISC 2020 - 26.01.2020

Cat1l

Problems Difficulty (202 Solvers)

ID | Tag |Difficulty |Average |S(Correct Solution) |0 < Pts. <5]|0 (Wrong Solution) |- (No Solution)
12 |S#4 816 0.92 23 23 47 109
51 #6 7321 1.34 48 12 74 68
11| #4 710| 1.45 12 86 43 61
3| + 6941 1.53 19 94 67 22
10 [H#3 5621 2.19 77 23 21 81
6 |S#H3 5541 2.23 63 46 36 57
4 |H#4 468| 2.66 66 70 13 53
8| #3 438 2.81 51 103 21 27
91 + 428 2.86 87 70 24 21
21 #3 4081 2.96 82 56 31 33
7| #2 238 3.81 154 0 46 2
1| #2 228 3.86 156 0 45

1) #2 Papack 1.Sd5! wrong keys: 1. Be5? 15x; 1. Se6? 14x; 1. Se8? 6x
2) #3 Chicco 1.Sc6! wrong keys: 1. Raxe6? 8x; 1. Sg6? 6x
missing variations: Qxh7 29x; Rg7 28x; Qh4 23x; dxc6 7x; thr. 5x
3) e.g. Huschenbeth/Minski 1. b7!
wrong moves: 1. Rc4? 17x; 3. Sf5? 10x; 5... Bh7+/Bf7+? 21x; 6. bxc8S? 9x;
6...?7 18x; 6... Bc4/Bd5? 21x
4) h#4 Sizonenko 1.Sc2 /Sb7 /Qh1l
45 solvers with 2 sol: Sc2/Sb7 35x; Sc2/Qh1 5x; Sb7/Qh1 5x
25 solvers with 1 sol: Sc2 18x; Sb7 3x; Qh1 4x
all sol with Sc2: 124; with Sb7 109; with Qh1 80
5) #6 Sushkov 1. Bc8! wrong keys: 1. Kc4? 24x; 1. Bg4? 15x; 1. Rd7? 14x
missing or wrong variations: f6 7x; f5 5x
6) S#3 Ivanov/Kapica 1. QhS8!

wrong keys: 1. Ra8? 10x; 1. Qc37? 8x

missing or wrong variations: Qb7 34x; Qa8 32x; Qal 17x; Qxe7 11x; thr. 1x




7) #2 Kovacevi¢ 1.Se7! wrong keys: 1. Rxa4? 17x; 1. Sfe3? 11x; 1. Sd4? 10x
8) #3 Peretiaka 1. Bd3! wrong key: 1. Bf1? 7x

missing var: a3 87x; cxb6 40x; Bc8~ 38x; b4 32x; thr. 29x; Se6™ 6x
9) e.g. Kuznetsov/Sakharov: 1. Rd5!

wrong moves: 4...Ka3? 35x; 5. Kc3? 10x
10) h#3 Jones a) 1.Sd7 b) f3

23 solvers with 1 sol: only a) Sd7 4x; only b) f3 19x

all sol. for b) 96x; for a) 81x
11) #4 Larin 1. Qb8!

wrong key: 1. Sc3? 13x

missing var: Rg3 84x; Re5 47x; d5 14x; d6 13x
12) S#4 Nikoleti¢ 1. Qc8! wrong keys: 1. Qb8? 12x; 1. Qa7? 9x

missing var: f2 19x; Sd3 10x; Bxg5 5x; thr. 2x



Cat 2

Problems Difficulty (241 Solvers)

ID | Tag |Difficulty |Average |S(Correct Solution) |0 < Pts. <5]|0 (Wrong Solution) |- (No Solution)
10 #5 8921 0.54 26 0 86 129
12| S#2 878| 0.61 18 18 120 85
1] = 854] 0.73 26 23 117 75
6 |H#2 7821 1.09 42 21 67 111
51 + 7381 1.31 19 124 62 36
91#3 676 1.62 52 44 77 68
31#3 662 1.69 56 49 64 72
2| #2 5521 2.24 108 0 115 18
4 | #6 536] 2.32 112 0 77 52
8| #3 536 2.32 38 116 36 51
7| #2 4981 2.51 121 0 89 31
1| #2 3821 3.09 149 0 80 12

1) #2 Brunner 1. Bg6! wrong keys: 1. Bg4? 14x; 1. Rc3? 11x; 1.Kg6? 10x
2) #2 Jada 1. Rc1! wrong keys 1. Rc2? 50x; 1. Re5? 19x
3) #3 Labai 1. Bb5! wrong keys 1. Bc4? 22x; 1. Sf5+? 18x
missing var: Bf3 35x; Be2 32x; Be2 20x; Sc6 7x
4) #6 Archakov 1. Rd1! wrong keys: 1. e4? 26x; 1. Rc1? 18x
5) eg Herberg 1. d5! wrong moves: 1. Be1? 57x; 1. ... Qxd5? 18x; 2. Se5? 23x
6) h#2 Lewis Kb4, Kd5 solvers with 1 sol: 21; with Kb4: 18; with Kd5: 3
all solutions with Kb4: 60; with Kd5: 45
7) #2 Whyatt: 1. g7! wrong key: 1. Qh5? 30x; 1. Sh6? 27x
8) #3 Kraemer: 1. Bb1! wrong key: 1. Kf2? 5x
missing variations: cxb1R 116x; thr. 21x; cxb1Q 4x
9) #3 Mikan: 1. Qal! wrong keys: 1. Sb4? 33x
missing variations: b4 39x; Sc6 16x; Kxa5 4x
10) #5 Wispelaere 1. Bh8! wrong keys: 1. c6? 32x; 1. d3? 14x; 1. d3? 11x
11) eg Somov-Nasimovich 1. Ke4!
wrong moves: 1. Kd6? 36x; 1. b7? 30x
12) S#2 Keller/Schneider: 1. g4! wrong keys: 1. Qd5? 14x; 1. Sde2? 12x

missing variations: cxd4 12x; Rxd8 11x; gxf4 5x; Sxf6 4x; thr. 2x



Cat3

Problems Difficulty (442 Solvers)
ID | Tag |Difficulty |Average|S(Correct Solution) |0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
51#3 874| 0.63 29 62 180 171
61 + 8521 0.74 53 26 198 165
4 | #2 694] 1.53 135 0 236 71
2| #2 538 2.31 204 0 190 48
1|#2 4421 2.79 247 0 190 5
31#2 374 3.13 277 0 121 44

Created by WFCC Solving Tournament Manager
1) #2 Kniest 1. Qh8!
wrong keys: 1. Qc2? 58x; 1. Qb8? 33x
2) #2 Palitsch 1. Rel!
wrong keys: 1. Rd8+? 33x; 1. Qe2+? 28x; 1. Bb2? 20x; 1. Qc5? 19x; 1. Qh2? 19x
3) #2 Valuska 1. Sg3!
wrong keys: 1. Sd2? 29x; 1. Kxc6? 23x
4) #2 Gooderson 1. Rh3!
wrong keys: 1. e5+? 77x; 1. Rf3? 61x; 1. Qb3? 22x; 1. Kd8? 20x
5) #3 Engel 1. Sg4!
wrong keys: 1. Sf7? 61x; 1. Rg4+? 21x; 1. Sf5? 17x; 1. Kf7? 14x
missing variation: d5: 42x; d3 42x; e5 42x; Kg5 32x; e2 28x
6) eg Haagqvist 1. Re2!

wrong moves: 1. Re8? 73x; 1. Re5? 45x; 1. Rel? 28x; 1. Re4? 21x; 1. Re6? 13x; 1. Re77? 1x



